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   Chapter: Subject Verb Agreement                            Topic: Improving Sentences 
· A Verb must agree with its Subject in Number and Person. For example-The quality of the apples was not good. The subject “quality of the apples” is singular so the verb must also be singular. 

· Two or more singular nouns or pronouns joined by and require a plural verb. For example- Honesty and loyalty are noble virtues. But if the nouns suggest one idea to the mind, or refer to the same person or thing, the verb is singular. For example – Bread and butter is my favorite food.

· Words joined to a singular subject by with, as well as, etc., are parenthetical. The verb agrees with the first in number and person. For example- King Canute, as well as his subjects, was bored of a life of ease. 

· Two or more singular subjects connected by or, nor require a singular verb. For example-Neither food nor shelter was to be found there. But when one of the subjects joined by or, nor is plural, the verb must be plural, and the plural subject should be placed nearest the verb. For example- Neither the Chairman nor the Directors are present. 

· Either, neither, each, everyone, many a, must be followed by a singular verb. For example-Everyone of the girls loves to ride.

· Two nouns qualified by each or every, even though connected by and, require a singular verb. For example-Every boy and every girl was given a bar of chocolate.

· Some nouns, which are plural in form, but singular in meaning, take a singular verb. For example-Mathematics is a branch of study in every school.

· Some nouns, which are singular in form, but plural in meaning, take a plural verb. For example- According to the present market rate ten dozen cost one hundred dollars.

· None, though properly singular, commonly takes a plural verb. For example-None are so deaf as those who will not hear.

· A collective noun takes a singular verb when the collection is thought of as one whole; plural when the individuals of which, it is composed are thought of. For example-                                                                                                                               The Committee has issued its report.                                                                                The Committee (plural sense) are divided on one minor point. 

· When the plural noun is a proper name for some single object or some collective unit, it must be followed by a singular verb. For example-The Snows of Kilimanjaro was written by Ernest Hemingway. 

· When a plural noun denotes some specific quantity or amount considered as a whole, the verb is generally singular. For example-Ten kilometers is a long walk.

· When the subject is a relative pronoun, the verb must agree with the noun for which it is used. For example- She is one of the prettiest actresses that have (not, has) appeared on the screen.

                                                       Practice Questions
The following sentences have an error in their subject-verb agreement. Choose the correct answer. Some of the sentences may be correct.

1. My friend and benefactor have come.

A: My friend and benefactor have come.

B: My friend and benefactor has come.

C: My friend, the benefactor having come.

D: Mine friend and benefactor have come.

E: My friend and my benefactor has come.

Correct Answer: B

Explanation: The verb “has” agrees with the singular subject “My friend and benefactor”. 

Choice A and D have got a faulty verb “have”.

Choice C contains a comma splice making the rest of the sentence a fragment.

Choice D begins with a misplaced singular possessive “mine”. “My” is a better choice (see sentence B).

Choice E also lacks subject-verb agreement. The repetition of the possessive “my” indicates two persons, whereas the verb “has” is singular. It should also be in the plural form “have”.

2.

Politics were with him the business of his life.

A: Politics were with him the business of his life.

B: Politics being the business of his life.

C: Politics were the life of his business with him.

D: Politics were the business of his life.

E: Politics was with him the business of his life.

Correct Answer: E

The subject agrees with the main verb “was”.

Choices A, C and D are incorrect because of the faulty plural verb “were”.
Choice B is incorrect as it lacks a main verb.

3.

At the end of summer, the trees still looks green but the flowers appears withered.

A. At the end of summer, the trees still looks green but the flowers appears withered.

B. At the end of summer, the trees still looks green but the flowers appear withered.

C. At the end of summer, the trees still look green but the flowers appears withered.

D. At the end of summer, the trees still look green but the flowers appear withered.

E. At the end of summer, the tree still look green but the flower appear withered.

Correct Answer: D

Only in Choice D do the verbs “look” and “appear” agree with the plural subjects “trees” and “flowers”.

4.

Actually, scientist now say, we use all of our brains.

A. Actually, scientist now say, we use all of our brains.

B. Actually, scientists now say, we use all our brains.

C. Actually, scientists now say, we use all of our brains.

D. Actually, scientists now saying, we use all of our brains.

E. Actually, scientists now say, all use of our brains.

Correct Answer: (C) Actually, scientists now say, we use all of our brains.

Explanation: The verb “say” agrees with the plural subject “scientists”. If the subject is singular it should use an article “a”. The rest of the sentence is grammatically correct. Choice B lacks the preposition “of”. In Choice E, the phrase “all use of our brains” is misplaced and makes no sense in the given context.

5.

Antonio, an honest merchant in Shakespeare’s play, is tricked by Shylock.

A. Antonio, an honest merchant in Shakespeare’s play, is tricked by Shylock.

B. Antonio, honest merchant in Shakespeare’s play, is tricked by Shylock.

C. Antonio, as an honest merchant in Shakespeare’s play, is tricked by Shylock.

D. Antonio, honest merchant in Shakespeare’s play, are tricked by Shylock.

E. Antonio, who is an honest merchant in Shakespeare’s play, is tricked by Shylock.

Correct Answer: A

Explanation: Choices A and E are both grammatically correct. Choice A is a better answer as it properly subordinates one idea and embeds it in the main clause.

The articles are missing in Choices B and D.

In Choice C the subordinate clause beginning with “as…” changes the meaning.

In Choice D the plural verb “are” does not agree with the singular subject “Antonio”.

6.

Our ability to manipulate the sensory components of foods – the tastes, smells and textures – are improving by leaps and bounds. 

A. – the tastes, smells and textures – are improving by leaps and bounds.

B. – tastes, smells and textures – is improving by leaps and bounds.

C. – the tastes, smells and textures – is improving above leaps and bounds.

D. – the tastes, smell and textures – is improving by leaps and bounds.

E.  – is improving by leaps and bounds – the tastes, and textures.

Correct Answer: D

Explanation: The verb “is” agrees with the singular subject “Our ability”. 

In Choice A the plural verb “are” does not agree with the singular subject.

In Choice B the article “the” has been omitted.

In Choice C the faulty preposition “above” distorts the meaning of the sentence.

In Choice E the sentence becomes a fragment as “the tastes, and textures”, which modify “foods”, are mentioned last.  

7.

Nellie, along with her pet dog, have returned home after a walk.

A. Nellie, along with her pet dog, have returned after a walk.

B. Nellie, along with her pet dog, shall have returned after a walk.

C. Nellie, along with her pet dog, having returned after a walk.

D. Nellie, along with her pet dog, returning after a walk.

E. Nellie, along with her pet dog, has returned after a walk.

Correct Answer: E

Explanation: Choice E has the verb “has” which agrees with the singular subject “Nellie”.

Choice A uses the verb “have” which does not match with the singular subject.

In Choice B the past tense form of “shall” that is “should” should have been written.

In Choice C the participle “having” turns the sentence into a fragment.

Choice D lacks a main verb.

8.

Either John or Gene is going to lead the team on Monday.

A. Either John or Gene is going to lead the team on Monday.

B. Either John nor Gene is going to lead the team on Monday.

C. Either John or Gene are going to lead the team on Monday.

D. Either John or Gene going leading the team on Monday’

E. Either John or Gene to lead the team on Monday.

Correct Answer: A

Explanation: The singular verb “is” agrees with the singular subject “Either John or Gene”.

In Choice B “nor” is misplaced as it is written with “neither”.

In Choice C the plural verb “are” becomes faulty with a singular subject.

Choices D and E are incorrect as they both lack main verbs.

9.

When I told my family that I were thinking of taking a cooking job, the roars of laughter was rather discouraging.

A. When I told my family that I were thinking of taking a cooking job, the roars of laughter was rather discouraging.

B. When I told my family of a cooking job that I were thinking of, the roars of laughter

were rather discouraging.

C. When I told my family of a cooking job that I was thinking of, the roars of laughter was rather discouraging.

D. When I told my family of a cooking job that I was thinking of, the roars of laughter were rather discouraging.

E. When I told my family of a job that I was cooking, the roars of laughter were rather discouraging.

Correct Answer: D

Explanation: The singular verb “was” agrees with the singular subject “I” and the plural verb “were” agrees with the plural subject “roars of laughter”.

In Choices A, B and C the verbs do not always agree.

In Choice E the subordinate clause beginning with “When……cooking” changes the meaning of the sentence.

10.

The novel recounts experiences of three young lads, each a member of a club, who loves baseball.
A. The novel recounts experiences of three young lads, each a member of a club, who loves baseball.

B. The novel recount experiences of three young lads, each a member of a club, who loves baseball.

C. The novel recounts the experiences of three young lads, each a member of a club, who love baseball.

D. The novel recounts experience of three young lads, each a member of a club, who love baseball.

E. The novel recounts the experiences by three young lads, each a member of a club, who love baseball.

Correct Answer: C

Explanation: Choice C is the best answer. The verbs “recounts” and “love” agree with the subjects. 

In Choices A and B the verbs do not always agree with the subjects. 

In Choice D the article “the” is missing and in Choice E a wrong preposition “by” has been used.
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